The equilibrium constant, Keg, is the ratio of the product concentration to the
reactant concentration when equilibrium is achieved. The exact mathematical form
of the equilibrium expression, relating Keq to the various reactants and products,
depends on the specific chemical equilibrium considered.

The use of square brackets [ ] indicates that concentrations of reactants and
products are equilibrium concentrations and are molar concentrations (units of

moles/liter). The exponents are the coefficients from the balanced chemical

equation.
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